
I

Yiddish word of the day

= saw

potato =

Yildishexprcssionofthcday
"Elst hobntsen hayter, yedw 78517 1831247 ↳ 843
hoiit 2-ol hobn ten tsimwn

, I > §? 845 b'17 7830
'

un yoder 1-sinner to 1
zayn tsen
* 37838' Ito ,#

'3 µ
tctn

,
uh 2-olstzikhkayklen = 608431110,1602 ☒ µ 845

fun eyn let in der tsveytr , , Yo 6821"6µF 98T¥
mit khdere 878843 Kno " 113783

=



Determinants
Again - We know the eyuutrm ax:b has a unique solution

precisely when a -40
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I 10-8 t (0-2) = 0

•We want to define for
any dimensional matrix

A nxn matrix
1) The¥É of A is the In - 1) ✗ In - 1) math

obtained by deleting row i
,
column j from A

2) TheÉA is the determinant of the big;)
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3) the of A is 1-Nitin; (A)



Ok
, So with these 3 def
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Grossi I said that determinants
give us an easier way

to

see if matrix is invertible . As of now
,
looks like I lied .
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Fact: If our matrix is in Echelon Form
,
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• Start with matrix A.Then putting it in Echelon fwm is just
multiplying by a few elunetnny mutinies .

•If B is the matrix obtained from A that 's now in
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3) T.jo) : det IT 671=1 ! ! ! WOW ! ! !

• If the only row operation we do is adding
'

multiples
of one row to another
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the determinant does not

change ,
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So dot Ai i. C-5) (4) (3) i -60

RUI - If A is an invertible matrix
,
then

the matrix equation AE :B has unique solution for -
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I

⇒ thus the columns of A←ÉR
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defA -40 so A is invertible. Thus the columns
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W-eishow-hsst-feww.ee
A nxn matrix

.
Then the following an equivalent

1) ( AIT ) has a solute Fw any vector to

2) The columns of A☒ IRN

3) the columns of A an in µ
half is good
enough
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4) The columns of A ans for

5) A is iÉn

6) dit A -1=0


